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PTO

Answer all 20 Questions from Group-A, each question carries 1 mark.
xzqi&A ls lHkh iz’uksa ds mÙkj nsa] izR;sd iz’u dk eku 1 vad gSA

Answer all five questions from Group-B,each question carries 4 marks.
xzqi&B ls ik¡p iz’ukas ds mÙkj nsa] izR;sd iz’u dk eku 4 vad gSA

Answer all three questions from Group-C, each question carries 10 marks.
xzqi&C ls rhu iz’ukas ds mÙkj nsa] izR;sd iz’u dk eku10 vad gSA

All parts of a question must be answered at one place
in sequence, otherwise they may not be evaluated.

,d iz’u ds lHkh va’kks dk mÙkj ,d gh txg ¼yxkrkj Øe esa½ gksuk
pkfg,] vU;Fkk os ugha tk¡ps tk ldrs gSaA

The figures in right hand margin indicate full marks
nk,¡ ikÜoZ ds vad iw.kkZ ad ds lwpd gSaA



GROUP-A
1. Choose the most suitable answer from the following options.

¼lokZf/kd mi;qZDr fodYi dks pqudj fy[ksa½ %&

(i) Total faus in tetrahydron is
(a) 2
(b) 3
(c) 4
(d) 5

(i) VsVªkgsMªu esa dqy -------- ry gksrs gSA

(v) 2
(c) 3
(l) 4
(n) 5

(ii) Cylinder is developed by
(a) Radial method
(b) Parallel line method
(c) Both
(d) None of above

(ii) csyu dk fodkl -------- ls fd;k tkrk gSA

(v) f=T;k fof/k
(c) lekukUrj js[kk fof/k

(l) nksuks a

(n) Åij dksbZ ugha
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(iii) Development is done by ........... length
(a)   True
(b) apparent
(c) Both
(d) None of above

(iii) fodkl --------- yEckbZ ls fd;k tkrk gSA

(v) okLrfod
(c) vkHkklh

(l) nksauks

(n) Åij dksbZ ugha

(iv) Development of surface in workshop is used in
(a) foundary
(b) black smithy
(c) sheet metal
(d) None of above

(iv) deZ'kkyk esa fodkl dk mi;ksx -------- esa fd;k tkrk gSA

(v) QkmUMªh
(c) Cysd fLeFkh

(l) 'khV esVy

(n) Åij dksbZ ugha

(v) A cuboid has ............. edges.
(a) 8
(b) 6



(c) 12
(d) 9

(v) ,d /kukHk esa ---------- fdukjs gksrs gSaA

(v) 8
(c) 6
(l) 12
(n) 9

(vi) In Orthographic projections, all the projections are
(a) r to plane
(b) = to plane
(c) Both
(d) None of above

(vi) yEoor~ iz{ksi esa] lHkh iz{ksi --------- gksrs gSaA

(v) ry ds r
(c) ry ds =
(l) nksuks a

(n) Åij dksbZ ugha

(vii) Eighteen edges are in
(a) Pentagonal prism
(b) Hexagonal prism
(c) Square prism
(d) None of above
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(vii) vBkjg fdukjs ---------- esa jgrs gSaA

(v) iapHkqtkdkj fizTe
(c) "kaVHkqtkdkj fizTe

(l) oxkZdkj fizTe

(n) Åij dksbZ ugha

(viii) A Square pyramid is placed on the ground, then devation
will be .............. shap.
(a) Square
(b) Triangle
(c) Rectangle
(d) All of above

(viii) ,d oxkZdkj fijkfeM tehu ij j[kk gS rks mldk ,yhHks'ku

--------- vkd`fr dk gksxkA

(v) oxkZdkj
(c) f=Hkqt

(l) vk;r

(n) Åij lHkh

(ix) In development of solid, radial method is employed for
(a) Prism
(b) Pyramid
(c) Both
(d) None of above
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(ix) Bksl ds fodkl esa f=T;k fof/k---------- mi;ksx gksrk gSA

(v) fizTe
(c) fijkfeM

(l) nksuksa
(n) Åij dksbZ ugha

(x) In Which projection, lengths are reduced.
(a) Isometric
(b) orthographic
(c) Both
(d) None of above

(x) fdl iz{ksi esa yEckbZ de tkrk gSA

(v) vk;lksesfVªd

(c) yEoor~ iz{ksi

(l) nksuks a

(n) Åij dksbZ ugha

(xi) Ratio of isometric length to actual length is
(a) 1
(b) 1.22
(c) 0.82
(d) 1.7

(xi) vk;lksesfVªd yEckbZ ,oa okLrfod yEckbZ dk vuqikr

(v) 1
(c) 1.22

(l) 0.82
(n) 1.7

(xii) All vertical faces of a pyramid is
(a) rectangle
(b) triangle
(c) square
(d) None of above

(xii) fijkfeM dh lHkh mnxz ry ----------- gksrk gSaA

(v) vk;r

(c) f=Hkqt

(l) oxZ

(n) Åij dksbZ ughaA

(xiii) Isometric scale is used in ............. projection.
(a) orthographic
(b) prospective
(c) both
(d) isometric

(xiii) vk;lksesfVªd Ldsy dk mi;ksx --------- iz{ksi esa gksrk gSA

(v) yEoor~
(c) ilZisDfVHk

(l)  nksuksa
(n) vk;lksesfVªd
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(xiv) Prism has .............. vertical faces.
(a) Square
(b) Rectangle
(c) Treangle
(d) None of above

(xiv) fizTe dk mnxz ry -------- gksrs gSA

(v) oxZ
(c) vk;r

(l) f=Hkqt

(n) Åij dksbZ ugha

(xv) Cube has faces of ............ shape.
(a) triangle
(b) rectangle
(c) square
(d) All of above

(xv) ?ku dh lHkh ry ------------ vkdkj ds gksrs gSaA

(v) f=Hkqt
(c) vk;r

(l) oxZ

(n) Åij lHkhA

(xvi) All vertical faces of triangle prism are.
(a) rectangle
(b) square
(c) triangle
(d) all of above

(xvi) f=Hkqtkdkj fizTe dk lHkh mnxzry -------- gksrs gSA

(v) vk;r

(c) oxZ

(l) f=Hkqt

(n) Åij lHkh

(xvii) Elevation of a vertical cylinder is
(a) triangle
(b) square
(c) circle
(d) rectangle

(xvii) mnzxz osyu dk vuqfo{ksi ------- gS

(v) f=Hkqt
(c) oxZ

(l) o`r

(n) vk;r
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(xviii) Section lines are
(a) Broken
(b) Continuous
(c) Equally spaced broken
(d) None of above

(xviii) lsDlu js[kk,¡ ---------- gksrs gSaA
(v) VwVk gqvk

(c) yxkrkj

(l) cjkcj vUrj dk VqVk gqvk

(n) Åij dksbZ ugha

(xix) Solid sphere is generated by ration of ..........
(a) Prism
(b) Cone
(c) Rectangle
(d) Semicircle

(xix) -------- ds ?k qekus ls Bksl xksyk iSnk gksrk gS aA

(v) fizTe
(c) 'kadq

(l) vk;r

(n) v)Zo`r

(xx) Frustam is obtained by
(a) Prism
(b) Pyramid
(c) Sphere
(d)  Cylinder

(xx) --------- ls ÝLVe izkIr gksrk gSA

(v) fizTe
(c) fijkfeM

(l) xksyk

(n) csyu

GROUP-B
Answer all five questions :      5x4=20
lHkh ik¡p iz'uksa ds mÙkj nsaA

2. Draw free hand of a square nut
oxkZdkj uV dk eqDr gLr vkjs[k [khapsA 4

OR (vFkok)
Draw free hand of a split pin.
fLifyV fiu dk eqDr gLr vkjs[k [khpsaA 4
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3. A cone is 20mm diameter and 60mm Right placed on
ground. Draw the projections
,d 'kadq dk vk/kkj O;kl 20mm rFkk Å¡pkbZ 60mm gSA tehu
ij j[kk gSA bldk iz{ksi [khapsA 4

OR (vFkok)
A square pyramid of base edge 30mm and hight 60mm placed
on the ground vertically. Draw its projections.
,d oxkZdkj fijkfeM vk/kkj fdukjk 30mm ,oa Å¡pkbZ 60mm
gSA tehu ij mnzxz :i ls j[kk gS rks bldk iz{ksi [khapsA 4

4. Draw the isometric view of a rectangle 30mm X 20mm.
30mm X 20mm. rectangle dk vk;lksesfVªd n`'; [khaps 4

OR (vFkok)
Draw the isometric scale for length 100mm
100mm  dk vk;lksesfVªd Ldsy [khapsA 4

5. Draw the isometric view of a circle of radius 20mm
20mm f=T;k ds o`r dk vk;lksesfVªd n`'; [khps aA 4

OR (vFkok)
A cylinder is 50mm long and radius 10mm, develop the
cylinder.
,d csyu dh  yEckbZ 50mm rFkk f=T;k 10mm gS rks bldk
fodkl djsaA 4

GROUP-C
Answer all three questions :     10x3=30

6. Draw free hand and label it of muff coupling
eQ dkWifyax dk eqDr gLr vkjs[k [khaps ,oa ukedj.k djsaA  10

OR (vFkok)
Draw plan, elevation and side view in
orthographic projection by given figure.
fn;s fp= ls Iyku ,fyHks'ku ,oa lkbM  dk

yEoor~ iz{ksi [khpsaA    
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7. Draw the isometric view of given figure.
fn;s fp= ls vk;lksesfVªd n`'; [khapsA 10

                                 OR (vFkok)
Projections a square pyramid are given, then develop it
fn;s fp= ls oxkZdkj fijkfeM dk fodkl djsaA 10

8. A cone of height 70mm and radius 15mm is placed on
ground. Aculting plane inclined 600 to axis at a height of
30mm, Draw for true section. 10

,d 'kadq dh Å¡pkbZ 70mm ,oa f=T;k 15mm, tehu ij j[kk gSA
,d dfVax ry tks v{k ls 600 dk dks.k cukrk gS] 30mm dh
Å¡pkbZ ij dkVrk gS rks okLrfod lsDlu vkjs[k djsaA

OR (vFkok)
A hexagonal prism of base edge 30mm and axis 60mm
long is placed on HP such a way that one edge is inclined
300 to up and axis inclide 450 to HP. Draw its projections.
,d "kV Hkqtkdkj fizTe ftldk vk/kkj fdukjk 30mm ,oa v{k

dh yEckbZ 60mm gSA bl izdkj HP esa j[kk gS fd bldk ,d
fdukjk VP ls 300 dk ,oa v{k 450   dk dks.k HP ls cukrk gS rks
bldk iz{ksi [khapsA 10

***
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Square Pyramid
oxkZdkj fijkfeM

square prism
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